m B Al B KSR R

(B4

oo g HE(Kg) HEOG =2 & R FHEE
1 A AN < 92,124 129 3 44,316, 310 9.3 851
2 W A % 38, 699 9.6 5 29, 062, 281 6.1 751
3 | H S 5 30, 155 1.5 2 47,763,115 10.0 1,584
4 X ES 5 29,710 1.4 4 36, 682, 507 1.7 1,235
° | 1= L 25,008 6.2 7 23, 236, 601 4.9 929
6 | F N %) 24,739 6.1 1 67,089, 199 4.1 2,712
1 ) - 3 18, 751 4.7 9 18, 321, 856 3.8 971
8 | Iz el 3] 17,579 4.4 6 24, 888, 555 5.2 1,416
9 | 2 S 15, 848 3.9 12 13,128, 446 2.8 828
10 = S <] 15,3170 3.8/ 21 5,030, 804 1.1 321
11 C 10, 327 2.6 15 1,832,877 1.6 758
12 | s 10, 189 2.5 13 12,132,103 2.5 1,191
13| & I+ 9,286 2.3 8 18, 535, 228 3.9/ 1,996
14 | A ES 9,187 2.3 18 6, 694, 098 1.4 129
15 | 1= =) ] 8, 185 2.2 1] 1,038, 711 1.5 801
16 | [F t= T 6, 249 1.6 16 1,097, 817 1.5 1,136
17 | & & Y 6, 150 1.5 20 5,127, 829 1.1 834
18 | [F s 9,996 1.4 25 3,220, 441 0.7 575
19 | Z 5 C 4,933 1.2 11 13, 376, 060 2.8/ 2,12
20 b AN & 4,191 1.0 26 2, 830, 451 0.6 675
21 5 & 3,428 0.9 19 9,419, 385 1.1 1,581
22 & A - 3,078 0.8 30 1,095, 143 0.2 356
23 W rp) L 3,014 0.7 21 1,813,239 0.4 602
24 L c H 2,135 0.7) 24 3,404, 584 0.7 1,245
25 12 <] 2,562 0.6/ 14 1,920, 245 1.7 3,001
26 | » el [6) 2,251 0.6 23 3, 629, 806 0.8/ 1,608
21 | » s <] 2,141 0.5 29 1,703, 607 0.4 196
28 | (& < Y 1,902 0.5 28 1,739, 491 0.4 915
29 | ¥ El & 1, 861 0.5 31 853, 694 0.2 459
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(B#)

o & B HE(Ke) HEOG & @ hE () FHEE
30 5 1< 58 982 0.2/ 10 14,754, 474 3.1 15,025
31 | 2 v | 852 0.2 22 3,948, 784 0.8/ 4,635
32 W L % 5 760 0.2/ 39 147,578 0.0 194
3 | Z A A 603 0.1 34 290, 142 0.1 481
¥ 1F S5 F S5 £ 956 0.1 35 285, 329 0.1 513
35 L ) 3 & 462 0.1 32 682, 182 0.1 1,477
36 & ) Z 419 0.1 33 544,622 0.1 1,300
37 | IZ L A 385 0.1 40 143, 441 0.0 373
38 ELES (54F) 62 0.0 36 231, 600 0.0/ 3,832
39 | = D L %) 60 0.0/ 38 152, 820 0.0/ 2, 547
40 | & & DA | 317 0.0 4 19, 941 0.0/ 2 161
a0 F = (& = 35 0.0 44 29,716 0.0 851
42 | = Cp) = 33 0.0 43 58,072 0.0/ 1,760
43 |13 E3 - 22 0.0 42 68, 256 0.0/ 3,103
4 | B <3 16 0.0 37 203, 472 0.0/ 12,717
45 | H 3 0.0/ 45 9,288 0.0/ 3,096
T2 o f# £ f 19,7179 4.9 1 18,477,967 3.9 934
2 | o f B % 5,948 1.5 2 5,479,798 1.1 921
3 T o E O 4,385 1.1 4 4,748, 696 1.0/ 1,083
4 T D fth 1,410 0.4 3 5,201,776 1.1 3,539
fit g} H 402,723 | 100.0 476,588,557  100.0 1,183
(A ER)

o & B HE(Ke) HEO T & @ k) FHEE
1 m & A ES 712,650 13.6 7 24,412,994 3.4 336
2 b 3 e) I+ 71,963 13.4) 5 30, 147, 091 4.2 419
3 A 7 i< 69, 714 13.0 4 32,701, 888 4.6 469
4 A z [6) 41,283 1.7) 2 92,738, 038 13.1 2,246
5 & 2 o X 5 39,618 7.4 3 66,679, 115 9.4/ 1,683
6 & ga) 2 33,999 6.4 1 157, 831, 827 22.2) 4,642
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(RER)

o & B HE(Ke) HEOG & @ hE () FHEE
17 | A& = = 18, 350 3.4 13 7,917,983 1.1 431
8 m h o) H 13, 089 2.4 9 16, 905, 756 2.4 1,292
9 |4 Ly h 12,413 2.3/ 10 15, 896, 139 2.2 1, 281
10 % & £ < 5 % 9,429 1.8] 6 25,818,716 3.6, 2,738
1 m S 1= T 9, 340 1.7 8 18, 876, 693 2.7 2,021
12 m pa) n Ly 7, 681 1.4 14 7,662, 183 1.1 998
13 | & = IF 6,728 1.3] 11 8,262,043 1.2 1,228
14 & 1= ) 6, 662 1.2] 12 8,140, 622 1.1 1,222
15 & ES El 3,905 0.7 15 7,636, 307 1.1 1,956
16 & 1= Ly 3,149 0.6 16 6, 740, 452 1.0 2,141
17 /% & h L = %8 2,573 0.5 18 2,592,319 0.4 1,008
18 m = A = 2,256 0.4 17 2,880, 426 0.4 1,277
19 m I L A 1,422 0.3] 24 329, 249 0.0 232
20 m o) hoa) I 861 0.2 2 599, 778 0.1 697
21 | & 1= - 616 0.1 19 940, 939 0.1 1,527
22 m = H B 523 0.1 22 557, 064 0.1 1, 065
23 MW =3 El 318 0.1 20 680, 508 0.1 2,140
24 & J o A4 5 — 280 0.1 23 410, 724 0.1 1, 467
25 | & » C 214 0.0 25 194, 596 0.0 909
26 A& A L oL — Y 57 0.0 27 87, 750 0.0 1,539
27 m < C ) 53 0.0 26 158, 587 0.0/ 2,992
28 & K T bh I 53 0.0 29 27,492 0.0 519
29 A& ) P 40 0.0 28 64, 800 0.0 1,620
1 14 B fh 64, 338 12.0] 1 90, 956, 572 12.8 1,414
2 = O oA E 30,076 5.6 2 55, 331, 085 7.8 1, 840
3 | o b s B B 11, 526 2.2 3 25,228, 551 3.6, 2,189

m ¥4 y::| B 535,179 100.0 709, 408, 287 100.0 1,326
(&F. MMI&)
o ) = HE(Kg) HEO ZH @ B (%) FHEE
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(EF. T &)

o & B HE(Ke) HEOG & @ hE () FHEE
1 n ES (F - 121,949 22.8] 2 90, 332, 831 12.6 141
2 |15 < [+ 99, 490 18.6 1 112,976, 661 15.8) 1,136
3 5 L2 39, 389 1.4, 5 40, 804, 250 5.7/ 1,036
4 ¥ 20, 640 3.9 6 39, 328, 589 5.5 1,906
5 ) ¥ 15,276 29 4 44,632, 841 6.2 2,922
A < ) 13,716 2.6 3 66, 080, 903 9.2/ 4,818
1T | & ¥ 73 13, 363 25 9 21,969, 863 3.1 1,644
8 < el 13, 348 2.5 14 10, 054, 609 1.4 153
9 B M n N » 10, 333 1.9 10 16, 753, 251 2.3 1,621
10K F &F - & 9, 654 1.8 11 16,676,010 2.3 1,721
1 & ¥ 9,198 L7)7 31,164, 457 4.41 3,388
12 B = =S 1,302 1.4 12 13, 629, 711 1.9 1,867
13 |72 ) & 6,042 117 8, 054, 368 1.1 1,333
14 7 > & o, 813 1.1 8 28, 280, 521 4.0/ 4,815
15 1§ AN ) 5,393 1.0 15 8,930, 903 1.2 1,656
16 | 1= < 5 4,533 0.8 13 10, 896, 093 1.5 2,404
17 & T 4,328 0.8/ 16 8, 858, 546 1.2 2,047
80 F = A F 4,311 0.8 217 2,214,512 0.3 521
19 9 5 Y A 4,175 0.8 19 4,044, 652 0.6 969
200 B F T A F 3,812 0.7 23 2,962, 099 0.4 165
21 | B T ) C 3,323 0.6 22 3,461, 249 0.5 1,042
22 |49 & 8 3,311 0.6/ 20 3,979, 520 0.6 1,202
23 A T & % L 2,720 0.5/ 18 4,603, 515 0.6 1,692
24 | B T < (X 2,279 0.4/ 25 2,715,165 0.4 1,191
25 M 5 3 A5 #H 2,139 0.4 24 2,825,046 0.4 1,321
26 A F W b L 2,088 0.4 30 1,164,020 0.2 057
21 '8 X I L A 1,486 0.3 29 1,500, 339 0.2/ 1,010
28 | #H Y Ao TF 1,41 0.3 26 2,281, 040 0.3 1,551
29 | F ® S 1,224 0.2 2 3,493,028 0.5 2,85
30 | B ) 891 0.2 28 1,709, 032 0.2 1,918
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(EF. T &)

o & B HE(Ke) HEOG & @ hE () FHEE
31 1§ x El 664 0.1 31 929, 130 0.1 1,39
32 | 18 E3 2 [+ 139 0.0/ 33 107, 552 0.0 174
3 ;M HE L & 5 N 63 0.0 32 121,937 0.0/ 1,936
34 INL o)== 44 0.0 34 28, 457 0.0 647
T2 o # & ®H & 68, 761 129 1 98, 996, 949 8.2 858
2 £ o F B9 11,703 2.2 2 21, 471, 966 3.0/ 1,83
3 T o e ¥ & 10, 326 1.9/ 4 12,808, 844 1.8 1,240
4 1% ) fit 9,182 1.7, 3 13, 329, 830 1.9 1,452
S T o ot F W 883 0.2 5 1,645, 029 0.2/ 1,863

®BF. mMI &G 534,888 | 100.0 715,877,318 100.0 1,338
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